Prematic AG

Druckluft-Elemente und Kompressoren, CH-9556 Affeltrangen
Telefon 071 918 60 60, Telefax 071 918 60 40, E-Mail: info@prematic.ch

Ersatzteilliste

Ausfuhrung ab: 4.02
Aenderungen vorbehalter

Kompressoraggr. oelfrei

premalic

DRUCKLUFT-TECHNIK IR

4.02

OL 202 (Attack)

Pos. Bezeichnung Artikel-Nr. Anz. Fr. Pos. Bezeichnung Artikel-Nr. Anz. Fr.
1  Ansaugfilter OL200 317 028 000 1
2 Zylinderkopf 3/8" OL200 116 005 031 1
3 Schraube BN3326 M6x45 014 013 027 4
7  ZK-Dichtung OL200 116 005 017 1
8  \Ventilplatte kpl. OL200 416 005 009 1
9  O-Ring VITON 010 057 000 1
10 Zylinder OL200 016 005 007 1
11 Lager 6203 033 059 000 1
12 Kolben kpl. OL200 416 005 002 1
14  Schraube BN56 M6x2C 014 002 027 1
16 Scheibe 7x21 116 010 013 1
17 Lifterrad OL202 116 010 004 1
19 Kurbelwelle OL202 116 010 006 1
20 Kurbelgehduse OL202 016 010 007 1
21 Schraube BN57 M5x7C 014 002 121 1
22 Lager 6204-2RS1 033 028 000 1
24 Rotor 70x55-18 034 128 000 1
25 Stator OL200 316 008 604 1
26 Lager 6202-2Z 033 070 000 1
27 Kompensatorring K2 027 011 000 1
28 Lagerdeckel 016 010 016 1
29 Sicherungsmutter BN161 M5 014 004 001 2
30 Kondensator 400/25 009 200 004 1
32 Motorschutz W28XQ1A-8A 008 040 000 1 Gewicht: 8 kg




